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POLYTECHNIC ADMISSION TEST - 2018
SET — B

Time : Two Hours
Full Marks : 100

Read the following instructions carefully before you begin to answer the questions.

6.

Example :

INSTRUCTIONS TO CANDIDATE

IMMEDIATELY AFTER RECEIVING THE TEST BOOKLET YOU SHOULD CHECK THAT
THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR
ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

This booklet contains 100 questions to be answered in a separate OMR Answer Sheet using
Black Ball Pen i‘n circles only as shown @

Read the questions carefully before marking your answer. Candidates are strongly advised not to
change or erase once the answer is marked.

All questions are compulsory and carry 1 mark €ach.

You will be supplied the Answers Sheet separately by the invigilator. Yo
of particulars asked for, all are mandatory.

Answers must be shown by completely blackening th
against the relevant question number by Black Ball Pen.

u must complete the details

e corresponding circles in the Answer Sheet

Supposing the following question is asked::
The Capital of Meghalaya is—
A. Guwahati B. Kohima

C. Shillong D. Delhi
You will have four alternatives in the A

of the Question Booklet as below :
@O®OO

In the above illustration, H your chosen response is alternative C i.e. Shillong, then the same should

be marked on the Answer Sheet by blackening the relevant circle with a Black Ball Point Pen only

as below : : @@.@

WHICH IS THE ONLY CORRECT METHOD OF ANSWERING.

nswer Sheet for your response corresponding to each question

y and as carefully as you can. Some questions may be difficult and

Answer the questions as quickl
question.

others easy. Do not spend too much time on any one
There will NOT be any negative marking for wrong answers.
The OMR Answer Sheet must be handedover to the invigilator before you leave the Examination

Hall.
No rough work is to be done on the OMR Answer Sheet. Space for rough work has been provided

in the question booklet.
Examination will be cancelled if a candidate is found to adopt unfair means, in any form.
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SET -B
Full Marks : 100 Time : Two Hours

There are 100 questions in this question booklet. 1-40 in Part-I and 41-100 in Part-1I. Each
question carries 1 (one) mark. For each of the following questions from 1 to 100, four answers
®, @ @ and @ are provided, out of which only one is correct. Darken the circle against

the correct answer with black ball point pen. Darkening more than one circle will be

considered as wrong answers.
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PART -1
MATHEMATICS

1. The point (p, q) is equidistant from (3, 6) and (-3, 4). The relation between
pand q is :

(p, q) BBl (3, 6) W% (-3, 4) R PR R TS| p S qI FTHD! T 3
®p+3q=5 ®3p+q=5
M) 3p-q=5 @ p-3q=>5
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The ratio in which the y-axis cuts the line segment joining the points (5, —6) and
-1, —4) is :

(5, —6) WIF (-1, —4) Ry oI FRET A @ANSF y-SHE (2 I AT T 3

@ 1:5 ® 2:3
© 5:1 @) 3:2

The diameter of the base of a right circular cylinder is 7 cm. If its height is
40 cm, then the volume is :

e foferem @B o T 7 cm o Twe! 40 cm 2 BRIGREGR w@we 29 ¢

(@ 1540 cm? (b) 1640 cm’

(©) 540 em’ @ 640 cm?

4. The value of sin’0 (1 + cot?0) is :

sin’® (1 + cot?’0)3 H-T9 ¢
® 0 ® -1
© 1 @ 2

sin® 63° + sin” 27°
cos® 17° + cos® 73°

5. The value of is :

sin? 63° + sin® 27°
cos? 17° +cos? 73°

(@) 1 (b 0
© Y @ -1
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6. 1f the circumference and area of a circle are numerically equal, then the radius of

the circle is:

51 g1 AR S S ARRS O T JE JOBE JPIR 29
@) 2 ® 3
© 4 @ 7

2
7. 18— % 3 then 6 s :
cot(-_) —co0s“0

cos’ 0
cot?® —cos’0

=3 T 0% W9 29 ¢

@) 30° @ 45°
©) -60° @ 90°

8. Two tangents TP and TQ are drawn to a circle with centre O from an external point
T. Then :

O uRFE ges Iy [ T =9 o =E TP 3% TQ W[ 39 (2| (OF 3

ZPTQ = Z0OPQ (b) £Z0PQ = 2/PTQ

(©) 24PTQ = 3£0PQ (d) 4PTQ = 24£0PQ
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T 22
Q | ) |
. The area of a quadrant of a circle having circumference 22 cm is [usen— TJ :

22cmﬁﬁﬁﬁﬁ?aﬁqmﬂﬁwﬁﬁ(n=% ) ¢

17

® _Eii_cmz (b) %é cm?
33

@ '8_ cm? _@ 18_lcm2

10. sec (90 — ) is:

sec (90 — )3 W\ T 3

11. A 20m deep well with diameter 7m is dug and the earth from digging is evenly spread
out to form a platform 22m by 14m. The height of the platform is :

20m TSIF WIF 7m IR O 31 A O NHRE A1 329718 22m x 14m coiem coipw
Q2 7oA T TA| CATTAINT Tool 7T ¢

@ Sm @ 2.5m
(@) 3.5m (d 3m

12. The following data have been arranged in ascending order of magnitude 59. §2. 65
x, x+2, 72, 85, 94. If the median is 69, then x is : » 02, 0,

wor TR TAGHS AERI (R 59, 62, 65, X, x+2, 72, 85, 94, Brdes W
69 2w X WA T 2

(a) 65 ® 69
&) 68 @ 70
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13. A hag contains 3 red balls and § black balls. A ball is drawn at random from the
bag. The probability that the ball drawn ‘not red’ is

aﬁim3ma@|w5ﬁ¢’ﬂwmww|mﬂnﬁawmwmww
A A | SR S I q) @Ry weikel a3 s

® ® 3
® 3 @ ;

14. Which of the following is not a quadratic equation ?

O (P! fadre ARiwae w=m o
(@) (x +17 +3 = 5x ® xx-1)=(x+3) x + 2)

© ®2+1=x03x-1) A (x+2) (x-3)=5 @+ 1)

15. The larger of two supplementary angles exceeds the smaller by 18 degree. What is
the larger angle ?

! FFS (PN OIEAC! FwRGreeE 18 M @1 ©iew st s 21 o
%) 162° (® 100°
(c) 8I° @ 99°

16. One of the angles of a triangle is 65°. If the difference of the other two angles is
25°, then they are :

<! fageq @bt @A 65°. W YOI (I ﬁmWZS"Q‘tﬁﬁT‘i@W@fag

(a) 80°, 55° (®) 60°, 35°
(c) 707, 45° @ None of the three
fof it 9bre gy
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17.

18.

19.

20.

. term of the Ap
Inan AP. the 11th term is 38 and the 16th term is 73. The 31st _
IS :

31 “W! 79
DY TG 2T 11w otcht 38 Wi 169 2B 73 Fat AT

@ 178 ©® 188
© 278 @ 288

. R. Whi
PQR is a triangle right angled at P and M is a point on QR such that PM.L Q ich
of the following is true ?

PQR fage™ P it sl s QR @ows M @5t Req | PM L QR T & (PG
o] T ?

() MR? = PM x QM , (& QM* = PM x MR

\(& PM? = QM x MR (d PR*=PM x QM

A retailer buys a cooler for Rs. 1200.00 and overhead expenses on it are Rs. 40.00.
If he sells the cooler for Rs. 1550.00, then the profit percent is :

YPRAE TG @ISl @& Aeet F TG Bl 1200.00 THrs Reaiw BoiRe cody 4a5 26
40.00 51| o6 TFCO! 1550.00 SO @R (99 2ol Fre =9

40% ®) 25%
O
©) 15% @ 20%

IfA (6, 1), B (8,2), C (9, 4) and D (p, 3) are the vertices of a
then the value of p is :

1 A (6, 1),B(8,2),C(9,4)WD(9,3)W@%TABCDWW@
(or® pI WH %I 2

@ 5 ®) 3
© 0 @ 7

parallelogram ABCD,

PAT-2018/SET-B-6000 ©6)




22,

23.

24,

. The roots of the following equation is :

ol ANPIEDBIA YETCDRD! (AR 3

x+-1—=3, xz0

X
1 1
@14‘\/2_,1—\/5 @5"'\6,5'\/3_!
2,48 2 5 e R
3 3 3 3 2 2 2 2

If the distance between the points (a, 0) and (0, 4) is 5 units, then the value of a
1s :

(a, 0) == (0, 4) B9 WO WST @Y 5 ¢33 Q0 ad I T ¢
(@ 0 (o *2

) 43 LD £

If x +y =4 and xy = 3, then the value of x — y is:

X+y=4 %S xy =326 x -y I 9w 79 ¢

(@ =1 &) +3
© 0 @ *2

The roots of the equation x> + 4x + 5 = 0 are :

X2 + 4x + 5 = 0 ISR & DBl CAR 8

@) Real and equal (b) Real and unequal
AT S A AT T AN
@ Positive and rational @ Not real number

IS AF AR AW A2 75

PAT-2018/SET-B—6000 (7)




—2) and R(-3, 4) is

Y

25. The area of the triangle having vertices P(-1.5, 3), Q6

P(-1.5, 3), Q(6, —2) W% R(-3, 4) Rrgazpia 56 [Agewe Mt 29 8
Sa) 7.5 () 0
© 25 @ 1

. . x 1 f)
26. How many tangents can be drawn from an exterior point to a given circle ?

Afe R SR o}1 Je GBite umoE =i ke IR AR 2

T@ ;);; \@/ Two

G
@ Infinite @ None of the three.
SIS eAF [t «bre =77

27. Which of the following is not an irrational number ?

TS (T IRAN [T 9 2
@ 4+ 2 ® 5+ 53
© 4+ 1 @D 4+ 5

28. If 4* = 8, the value of y/x is :

4 = 8 e y/xI TN 8

‘@1 ®) 273
© 312 @ 4
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30.

1.

32.

The H.CF. of 306 and 657 is 9. The L.C.M. of 306 and 657 is :

306 W= 657 A YOI AL 9 T F¥et Ae ¥ 3

(a) 22388 (b) 22338
(© 33228 (d 32238

Solution of the following pair of linear equations is :
px + 9% =p-gq

9 —py=p+gq

8T (AR AR (ROR AR TR ¢

@ x=-1,y=1 b x=1Ly=1

©x=__2,y=—1 @x=l,y=—1

If x +/x2 —9 =9, the value of x — 52 _ g is:

X tJx2 -9 =92 x - Jx2 9 I AN ¢

® o LB 1

© 3 (d) None of the three
foHtR Wb wzx

The third term of an A.P. is 16 and the 7th term exceeds Sth term by 12. The first
term is :

@B AT AT QOIW 2 16 S HAYW ACH ABA ATSIT 12 GIeI| AN Swih!
LS

@ C®
® : @ 7
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33. The sum of the first n odd natural numbers is :
B nT SN FeiRs WAR @ITE 29 ¢

@ n’ @ 3n

© ) 2n

34. A line parallel to BC cuts the sides AB and AC of a triangle ABC at D and E

respectively. Then which of the following is true ?

ol (IR fdge ABCI AB @ie AC 91z Teigw D o E Refe (=1 I3 W%
el BC 29 ANGRIE | (9% ©a 9 (SN0 9 28 ?

2 AE =il b
AC AB ® 28 " ac
AB _ AE aD _ AB
AD AC “ Bp " CcE

35. If twice the son’s age is added to the father’s age, the sum is 70. But if twice the
father’s age is added to son’s age, the sum is 95. Then the age of the father is :

@S TR qod A PG TER e @l TN @, @eiwE @ 70, e fren 3R
qoes s AW @ I Q@ TN W, QT W 95, (oA Prew am =9 3

(a) 30 %) 60

© 40 @ 80

PAT-2018/SET-B-6000 (10)




36. The ratio of the sides of two similar triangles are 4 :9. The ratio of the areas of

the two triangles is :

51 T g A SeArs 49, R [gw N I SeAre 2

dZ:B @4:9
@81:16 @ @16:81

7. The difference of two natural numbers is 3 and their squares have the sum 117. Then

the larger number is :

7! Freifie WA Reaews 3 ue Pides st @eiwa 117, (o 5% 1o wies
SYICOT T 8

® ¢ 5 9
© -6 @ -9

38. In a triangle ABC, AB = 63 cm, AC = 12 cm and BC = 6 cm. The value of
ZB is :

ffge ABCz AB = 6.3 cm, AC = 12 cm wi% BC = 6 ¢cm. #BY W 23 8

(a) 450 of 90"
60°
© (d) 8o




39. The fourth proportional to 14, 21 and 22 is :

14, 21 =% 223 5pdf ANFACH! A
(@ 33 (o) 44
© 55 @) 66

40.~The perimeter of a right angled triangle is 12 and hypotenuse is 5. Then the
area is :

9O T fages R T 12 e wfww 5 2 fagedE S 293
@ 9 ® 12
© 30 @ 6

PAT-2018/SET-B-6000 (12)




PART - II (A)
PHYSICS

41. A 120V electric heater draws a current of 25A. What is its resistance ?

G 120V3W%25Aﬁ@amwm|mmam ?

@ 020 U@{SQ

@ 50 @ None of the three

L 42 A wire of certain length and radius has a resistance of 4Q. Keeping its length intact

if the radius of the wire is reduced to half, what will be the new resistance ?

%WWWWQW @RI T 49.Wa@ﬁWwa@-m¢ﬁm
I TR Tgd @ivF AW B 29 ¢ i

(@) 4Q _ @) 20
© 8Q @ 16Q

\Aﬁhree resistors with resistances 5Q, 10Q and 15Q are connected in parallel to a 20V
battery. What is the current through the circuit ?

5Q, 10Q =% 15Q @@ Rt @Ivs 20V @R @OIR tice FANGAE e RIS
2a| IS Isre pifere Ry e[l siq & 2

@ 0.67A b 1A

@ 7.33A @ None of the three

fSRoR Wbre a8

PAT-2018/SET-B—6000 (13)




44, An electric motor takes SA from a 220V line. What is the energy consumed by the
motor in 3h ?

Wmamzzovm@%aﬁmmwwm 5A RMje gz 33| SHAHIE
3h swwe o Rwge IS w5 3RT 2

(@) 33kwW V@S 3.3 kWh

(©) 3300 kwh (d) None of the three

fefitir «bre w1=x

;/4{ At the time of short circuit, the current in the circuit :

=T BIfFe e I$Te iftte Rige eq ¢

(a) Reduces substantially Does not change

W AfRee f Aw AR 7=y
MCreases heavily (d Vary continuously

W AR A IW o IR SRS tx A

46. Which of the following physical quantities of a proton can change when it enters
a magnetic field ?

aﬁmﬁmmmm@mﬁﬁmwﬁmc@mwmmm

LIESICE R

(@) Mass (b) Velocity
o9 @t

(©) Momentum \mom (b) and (c)
©]39 (b) == (c) weaivt

PAT-2018/SET-B—6000 (14)




47 1f a body weighs 98N, then the mass of the body is : (Here g = 9.8 m/s?)
2w GO/ €& 98N 2T O w9 AR ®F 3 (zW® g = 9.8 m/s?)

\,@ 1 kg (b) 10 kg
@ 98 kg @ None of the three
fofit «bre =

4§, Near point of normal human eye 18 3

Ao qzs 5 e [ T @

(@ 25mm (®) 25m
@ 25 cm @2.5cm
/ k1

;4?./ A car travels 30 km at a uniform speed 30 km/h and the next 30 km at a uniform
speed of 60 km/h. The average speed of the car is :

QU NS TEieieF 2w 30 km Sifews <t 30 km/h Bfets =% /s 30 km wfoerw
F@E 60 km/h T | MTIET 9T Whe T 3

@ 45 kmvh ®) 50 kmvh
@ 40 km/h @ None of the three
fSfRo Wbre =y

50. What force would be needed to produce an acceleration of 4m/s® in a ball of mass
6g ?

bg 91 @ B eoiwe fEm oR 4m/s? @ R A oY o T AR ?
24 N

(b) 24x10° N
@ 24 dyne (d) None of the three
fofRGI goie w2¥
PAT-2018/SET-B-6000
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S . .
o A body ‘whose momentam i constant, must have constant :

OBl TR SRR W 41T | THOR PN ST TS IR A 7w 298

\@ Acceleration (g3¢) @ Force (3#)
@ Velocity (1) (d) None of the three
fofAtr «bre ==y

52. Two masses of lg and 4g are moving with equal kinetic energies. The ratio of
magnitudes of their momenta is :

lg W% 4g o381 B qw@ Otz ifeeifeE oife | Fr¥es oR@aR Sgee T 8
(@) 1:6 1:2
© 4:1 @ 1:8

é}/ How does the force of gravitation between two objects change when the distance
between them is reduced to half ?

wo! T = Wit g IRea Fon o smyafs a1 & oiffada 29 2

Reduced to half @ Increased to two times
A B MR Tofts I ok
1 .
@ Reduced to 1 @ Increased to 4 times
% wftsl g AR 4 @fte I~

54. Two objects each of mass 1.5 kg are moving in the same straight line but in opposite
directions. The velocity of each object is 2.5 m/s before the collision during which
they stick together. What will be the velocity of the combined object after the collision ?

15 kgwﬁwawawmﬂmﬁ%ﬁ#@ﬂ%aﬁmlmw
wﬁawﬁf%m:@mam2.5m/s.v1awvima@@1mﬁwﬁmmwﬁm
@ GO Hiferast w2

‘@Om/s (b) 5 ms

(© 2.5 m/s (d) None of the three

feitrR «bre =z
PAT-2018/SET-B-6000 (16)




NSS. An athlete can complete one round of a track of radius R in 40s. His displacement

after 2 minutes 20 seconds will be :

qE QTS 40s TS R IPIES (GF OIS @i s7~if Fa1 2 [t 20 brres wi%s
(©€Y 794 7T 3

(@ 2R (® 7R

@/énR (@ 7R

5(. If the momentum of a body is doubled, then its kinetic energy in comparison to its
initial kinetic energy will be changed to :

«B! IFT SIE@E 1Y T oI | W Ton ofoNfE 29 aAafET sifenfes s

Half (b) Twice
(¢) One fourth \ﬂ Four times
9% i 5ifF @

\S’I._/lgvolume of a body of mass 50g is 20 cm’. If the density of water is 1g cm™,

will the body float or sink ?

50g S99 IF GOF WS 20 o’ AWK W 1g om” T ITH ANS TRA &

aoffer ¢

& Float ®) Sink
aoifeq gRa

@ First it will sink and then float (d) None of the three
A PR i OiR fge esifex fefRtrR «bre w=x

PAT-2018/SET-B-6000 (17)




WL A force acting on a 20 kg mass changes its velocity from 5 m/s 1o 2 m/s. Wha g

the work done by the force ?

20 kg 7% T@ B @sixe RFHrTe <o @BIE TGO A 5 m/sT AT 2 m/SC ~fffeg
IR | TR w4 PRE AR 292

(@) 100J () 407
@ 2107 y@/None of the three

fofA5R «ore a1

\,5/1fthe velocity of a wave is 400 m/s and frequency is 100 Hz, then the wavelength

of the wave is :

29 @B @9t 400 m/s % FEE 100 Hz 2@ o9 wazsitraf 293

® om oL

(©) 3m (@ 2m

607 An object moving at a speed greater than that of sound is said to be moving at :

T GOR el W W A IR, R wies oy ax s

#) Ultrasonic speed (b) Infrasonic speed
iR e TN whe

@ Supersonic speed @ Sonic speed
S o R wf

PAT-2018/SET-B-6000 (18)




16)/;& boy clapped his hands near a wall and heard the echo after 5s. What is the distance
of the wall from the boy if the speed of sound is 346 m/s ?

GG IR (I QAT S5<S S B ITIE S 55 TRA HeS oA AfwE afd
AT | >R WS 346 m/s Z0E FAGHE AAl (@92a gag 2

(& 1730m (b) 173m
(©) 3460m (d) 865m

2. A sonar device on a submarine sends out a signal and receives an echo 5s later. If
the distance of the object from the submarine is 3625m, the speed of sound in water
18 :

BRUIRA QTS < T GBI #/91 *1717 HCPS (244 I 55 (P1me 14 Af e TEarnns
R et | SRONRAR #/1 WG @Y 3625m 20 AN WA = w77 2

(@) 1550 m/s () 1450 m/s

@ 1400 m/s (d) 1500 m/s

63./ A ray of light enters glass of refractive index 1.5 from air. If the speed of light in
vacuum is 3x10° m/s, what is the speed of light in glass ?

CPITZST I B I ~A91 Bib® et TR I 2fercticn 1.5 o 4w e o
WS 3x10* m/s X 67 MYV (A wfo w2

3x10* m/s (B 1.5<10° mys

© o0 o 2x10° mis

\644 virtual image larger than the object can be produced by :
TH IGOLT Tles e elfefiy R sRdts dmrem s

(3) Plane mirror (b) Concave lens
NS AT URIGE (&9

@ Convex mirror (d) Concave mirror
©&s ATl SRSE A

PAT-2018/SET-B-6000 (19)




3. The absolute refractive indices of glass and water are 1.5 and 1.3 respectively. What
1S the refractive index of glass with respect to water ?

I W SARTR W aforReics AT 1.5 o1 1.3 TE ARTE FAoes o AfSHIIRST

e 2
@ 1.5 @ 1.3
@ 1.15 @ None of the three

TR «bre =

ﬁ The power of a’lens is +2D. Its focal length will be :
G TR FTe! +2D. | TR 0 29 ¢

@) 100 cm \_®/50 om

(©) 25 ecm (@ 40 cm

‘6{ The phenomenon of mirage is seen due to :
TP At ARG IR 2

K Dispersion \@{eﬂection

ez eifwe
@ Total internal reflection @ Refraction
o wreresd effowen eifSoRel

xﬁA current of 0.5A is drawn by a filament of an electric bulb for 10 minﬁtes. What
is the amount of electric charge that flows through the circuit ?

s e @B RS Aeews 10 Ff 1w A 0.5A @i warm siftrs
Afes TSGR WA AARS P ST AR [ o =

@® sC () 30C
(c) 300C @ None of the three

PAT-2018/ SET-B—6000 (20)




69. A wire carries a current 1A. How many electrons pass through any point in the wire

each second ?

$i7 oleR MR 1A @APfes 2aE v Wi | $R Ul & @i 9ot [ e AfS
BrRes I MY LEAFET K X T 2

@ 1 &) 63x10'8

(©) 1000 (d) None of the three

fof bR «bre w1z

/0./ Keéping the potential difference constant, the resistance of a circuit is doubled. The
current will become :

e (ovm W i M OB [Rupe ISR @I T 729 I e | ISR AFRI T
zq 3

@ Half @ Double

e el
(c) One-fourth (@ Four times
< Sl SR wdl

PAT-2018/SET-B—6000 (21)




PART — II (B)
CHEMISTRY

\/71-/]'3xamples of two amphoteric oxides are :

Tl BTl iz e ¢

@ ALO,, 70O (® Cuo, Zno

© ALO, SO, @ ALO, O,

\}2{ Amongst the following the strongest acid is :

were ol (BN foots wibiRers S «fbedm! T ¢
(@) HF @ HCl
(c) HBr (d HI

mhich of the following element is trivalent ?

weR (PG CNE facare e

(@) Cu (b) Cr
@Sr W Pt

pAT-2018/ SET-B—6000 (22)




Wat is the common name of CaOCl, ?

CaOClL3 sta=a st B »
@ Gypsum

ferste
(c) Baking soda

QR e

‘75> Enzymes are :

TSR Caxm ¢

@ Mineral
A sl

Mm‘ein

oo

76. Nitrates of all metals are :
AP QP AREEREANT T 8
@ Coloured

I8
(©) Insoluble in water
ATS SEITHH

(b) Plaster of paris
AP o1 (ofay

@ Bleaching powder
fafes oGwra

@ Soluble in water
ATTS TRy

@ Unstable

S

}7/The number of molecules present in 10g of calcium carbonate is :

10g (oeifRam DS 4@l S AT 24 3

@ 6.02 % 105

@ 2 x 6.02 x 102
PAT-2018/SET-B-6000
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/8. One of the allotropic forms of carbon which is the hardest of all naturally occuring
elements :

PR B T R oo wiBiEes B Gne ¢

(a) Graphite @ Diamond
(ARG gl

@ Charcoal @ None of the three
Glg fofbl «bre w=x

,\% When ethanol is reacted with acidic KMnO, solution, ethanoic acid is produced. This
is an example of what type of reaction ?

IR GTes SifEe KMnO, @ Ridrst <oiee Tefis afbe Seom =1 @2 Riga
OHY (PINCGIN TwiRae ?

@ Oxidation @ Reduction

e R
@ Addition @ Substitution
RIRIME AfSDto

\-Stﬁvhich one of the following gas is formed when sodium meta] is added to ethanol?

Wsmwmﬂaﬁmwmcw@wﬁm 9
@, ® N,
© o | @ co,

PAT-2018/SET-B-6000 (24)




81. The moderator used in nuclear reactor is :
i G L E T R S —
@ D,0 @ H,0
(©) N,0 (d Na,0

82. The deficiency of vitamin D causes -

%DQWWWWWWMHM?
@ Rickets (b) Beriberi
siEsit RERRR[R

@ Night blindness (d) Paralysis

C il IS

J!ﬂn essential micro nutrient element for plants is :

SR SR SRR GTe <6t

@ Oxygen @ Phosphorus
e TR,
@ Calsium @) Molybdenum
S ¥ ferrets
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@t)/ﬁuring evaporation, the particles of liquid evaporate from :
W@ﬁﬂ%‘ﬁ@ﬁw%ﬂwmﬂ@%ﬂ@?ﬁ?@@z
(a) The bulk of the liquid

AN gl omdRET o[t
@ The surface and bulk of the liquid
ol W T T oM Sl o
(c) The surface only
@ PR ==
(d) None of the three

fofitr Wb w27

85" Natural rubber is a polymer of :

APOT 99 ©oT PG AT =AM ¢

(a) Ethene (b) Neoprene
2= ferfem

@/ Vinyl chloride @ Isoprene
feizeT Fize LIECE

86. The number of moles present in 4.9g of sulphuric acid is -

49g wErefis uftow A T ARTS 2

(@) 0.02 () 0.04
(© 0.05 (@ 0.06
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7. At constant temperature, the volume of a fixed mass of CO, is 1000 mL at 380 mm

pressure. If 1000 mm pressure is applied at the same temperature, what will be the
volume of the gas ?

@m@mwﬁﬁ‘@wcozcsm 380 mm Biste wRrET 1000 ml @ Baweirs 1000
mm 5% st aﬁmcﬂ@cﬁmwﬁmfw

(2) 280 mL () 380 mL

@480mL

ﬂ_ The amount of heat energy required to change 1 kg of solid into liquid at its melting
point and at 1 atmospheric pressure is called :

1 kg S0 ML 1 IRMEAT Blofe W% T RIS ©eT SRERSA R 2Awres @[l
ool =f&T sk R = ¢

@ Latent heat of fusion @ Latent heat of vaporisation
RoeeR T i NS T oo
’
(©) Boiling point (@ Calorie
Teaice R

\89. You are given a solution of AgNO,. Which one of the following do you think can

not displace Ag from AgNO;, solution ?
o @6t AgNQ % Tel | SF GO ciTlﬂ?{AgNO3m9mAg¢Wﬂwrﬁ€aiﬁa
3

ARl ¢
@Mg @Zn
® Au (@ Cu
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\90. Dry HCI gas does not change the colour of dry litmus paper. This statement is :
w3 HCl (it sl 55wl Fiofem 3990 Tl 9 @RIE | @2 A ¢

(a) Incomplete sentence (b) False
SReofe ' S[S)

® True (d) Neither true nor false
g T8 T WHONE T

\9/1./ The increasing order of atomic radii for the elements Li, Be, B and C is :

Li, Be, B ©iI%: C3 <IReiiRs oies 3fdes &9 =E ¢

@C<B_<Be<Li @C>B>Be>Li

@ C <B <Li<Be @ C>B > Li>Be

Jz/rhé' foul smell of LPG is due to :

9& o fom s IRt 24 ¢

(a) Hydrogen sulphide @® Methane gas
PG RETHIRC Rram caig

(c) Chlorine gas (d) Ethyl mercaptan
FRA (g R ARFBi

93. Tyndall effect is shown in which of the following ?
oo AR ©o@ (@GS ol TR 2

\@/Suspcnsion @ Colloid

Yo7 PTG
(c) Solution @ All of the three
W fefRetre
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94. To obtain pure crystal of alum from impure alum which of the following process
is most suitable ?

wog TR A9 Rea FERRT <wbs wimdTs som @G e s ifte =iy 2

—@/ Crystallization (b) Chromatography
Fo 1<l SR(GRT
@ Sublimation @ None of the three
TG wiTo feftr «bre w=a

95. In magnesium sulphide, the ratio by mass of magnesium and sulphur is :

G Y WETieTe O BBt HieRaN wiF YRR See T4 3
4:5 (B) 2133
(¢) 3.5 ;27 @ 3:4

\96. The metals present in brass are :
forosTe AP PP (AR 38

@ Cu, Ni @/Cu, Zn
(© Cu, Sn (d Ni, Zn

~x9?./Which one has greater number of atoms among the following ?
E (TG @R YT MY W 2

(@) 72g water (b) 7 mol hydrogen gas
72 g ot 7 T YRGS (1R
@ 90 g iron \/é 33 g oxygen gas
90 g IZ © 33 g ofweR ok
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98. The number of electrons in the M shell of silicon :

feferem M %% il Brergiae R ¢
@ 1 ® 3
&4 @ 2

99. Which pair of elements is present in the same period of the periodic table ?

T PRAR A oRfiqe oifee @ /e see
@Ni,Ag @Ca,Se
() Mg, Ca @ As, S

106.In the treatment of goiter the isotope of which of the following elements is used ?

Wwﬂaﬁ%@%wmﬁrcﬁmﬂﬂmwwm ?
@ Cobalt @ Iodine

F'q5 oy fow
(¢) Uranium (d Chlorine
AT e

PAT-2018/SET-B-6000 (30)




